T L g e P TS

Time Allowed QUESTION BOOKLET

Fraife v 2018

ll| Max. Marks Rk Ejﬁm

ey 150

Question
Booklet Set

Y gitdent ¥

1eSE 1R i
"ON 19])j00g uopsany

MATHEMATICS, CHEMISTRY AND PHYSICS

GENERAL INSTRUCTIONS
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Examinee is directed to read carefully the following
instructions :

. Examinee must write his/fher Roll Number in the
specified box on the top left hand comer of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which is being
provided 10 the examinee.

2. Besides filling in the Roll Number, the examinee has to
put his/her signature on the Answer-Sheet and also fill
other required delails like Name, Roll Number, Question
Bookiet code, etc. as indicated on the Answer OMR
Sheel. if these details are not filled in by the examinee,
hisfher Answer Sheet will not be evaluated.

. For each question, there are four altemative answers,
oul of which only one is correct. Examinee must darken
the clrcle of correct option in the Answer Sheet by Black
Balt Pen only,

. There are 40 (36+4) pages in this Question-Booklet
including 1 page for General Instructions and three
blank pages for Rough Work in the last. In case
an examinee receives an incomplste or defeclive
Question Bookiet, he/she should make a request
to the Room Invigilator to change the same within -
10 minutes of start of the exam.

- This Question Booklet contains 150 questions from
following subjecls :
(1} Maths Q. Nos, 1-50
{2) Chemistry Q. Nos. 51-100
{3) Physics Q.Nos. 101-150

. Each question carries 1 mark and % mark will be
deducied for each wrong answer.

. Possession and use of elecironic devices such as
Calculator, Cellular Phone, Digilal Diary, Log Table,
Pager, etc., are restricted during the examination,

. Any leaf from the Question Booklet should not be
detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
Invigilator.

. During examinalion the examinee will not be allowed
o leave the examination hall till the END of the
Examination.
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MATHEMATICS

It ={(5, 2), (6, 3)}, g = {(2, 5), (3, 6)}
are 2 relations on N then fog is

A) {(2,2), (3, 3)}

B) {(5. 5), (6, 6)}

C) {(5. 6), (6, 5)}

D) {(5, 2). (2. 5), (6, 3), (3, 6))

Letf: R — R be a function defined by
f(x) = x3 + 5 then F1(x) is

A) (x+5)%’ B) (x—5))é

C) (5—x))é D) 5-x

One branch of inverse cosine function
other than principle value branch
corresponds to

n[2Z]

B) [n,znl-{%}
C) (0, n)
D) [2r, 3n]

If3tan'x + cot-'x =« thenx =
A) 0 B) 1
1
C) -1 D) ﬁ

If cos~1a + cos™'B + cos~ly = 3r then
aB+y)+By+a)+y(a+pP) is
A) 0 B) 1

e

. ARt={(5,2),(6,3)) g={(2,5) (3 6)

N‘R‘ﬁﬁéﬂ%?ﬁfog%

A) {(2,2), (3, 3)}

B) {(5. 5). (6, 6)}

C) {(5, 6). (6. 5)}

D) {5, 2), (2, 5), (6, 3), (3. 6)}

. MR RERAT f())=x3+5

TR TR e @ |t 7(x) &
A) (x+5)%’ B) (x~5)"°

C) (5-)()}6‘ D) 5-x

. W§1 9 I % Srfafia g cosine wei|

=1 T I 9 ?

» (53]
B) [m%—{%}

C) (0, n)
D) {2r, 3]

. Ae3tan~Ix+cotIx=xn @ x=

A) 0 B) 1

1
C) -1 D) ﬁ

. 4% cos~ta + cos™1p + cos~ly = 3n |

aB+1)+BA+a)+y(a+P) §
A) 0 B) 1

C)6 D) 12 C) 6 D) 12
D suece
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6.

10.

Order of the differential equation
4

3
El—!+sin(d—§dij=0is
dx

dx*
" A) not defined B) 4
C) 1 D) 3

The number of arbitrary constants in
the particuiar solution of a differential
equation of third order is

A) 3 B) 2
C) 1 D) 0

Which ofthe followingis a homogeneous
differential equation ?

A) (4x+6y+5)dy-—(3y+2x+4)dx=0
B) xydx —(x3 + y3)dy =0

C) (x®+2y?)dx + 2xy dy = 0

D) y2dx + (x%~ xy - y3)dy = 0

Integrating factor of the differential
equation (1 + x2) dy + 2xy dx = cot x dx,
X=0is

>
A) 1+ x2

B) log (1 + x?)

Dy -1
X

C) 1+x2

Let 4b be 2 vectors such that
|§|=3,|5|=%§-. and @xb s a unit
vector then angle between 3 and b is
A % B) %
C) % D) %

10.

c) %

fontees affemo %+sin(%}=0ﬁ
X X
goft &

A) wionig T 'B) 4

C) 1 D) 3
T Aoft A w fnles wfiam 3 gy
T H Qo Fawis! 6 g @

A) 3 B) 2

C) 1 D) 0

el & & 27 o w orey fres
Tt R ?

A) (4x+6y +5) dy— (3y + 2x+4) dx =0
B) xydx — (x3 + y3)dy = 0

C) (x® + 2y2)dx + 2xy dy=0

D) y2dx + (x2 - xy - y)dy = 0

ﬁﬁammﬁmmx?)dyafaym:ootxdx

X # 0 T HIHTH O &
1
2
A) P B) log (1 +x2)
C) 1+x2 D) -1
X

a7 fofsre 8,6 < afiw 39 wow 3§
31=a[B]= 32 At ax6 w vard
wRY R, @ 3 3 b & A A2
N % B) %
D) %

4JEECE
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11.

12,

13.

14,

A die is thrown and a card is selected
at random from a deck of 52 playing
cards. The probability of getting an
even number on the die and a spade
card is

1
B)E

o) %

The equation of the plane that contains
the point (1, -1, 2) and is perpendicular
to each of the planes 2x + 3y -2z =5
andx +2y-3z=8is

A) 5x—4y—-z=2

B) 5x—4y-z=7

C)x—38y+z=7

D) x-y-10z=9

1
A) 'E

1
C) 3

If A and B are two events such that
P(A) + P(B) - P(A n B) = P(A) then

A) P(B/A) =1
B) P(A/B) = 1
C) P(B/A)=0
D) P(A/B) = 0

11.

12.

13.

14.

T 97 et STt & o 52 e & wwi
T A E O T ARgReE S A g R |
T8 T 9 TEd 3R O U o e
Y Wi @

1 1
A)E

B)g
1
) 7 D) %

39 wad T et fig (1, -1, 2) € afk
2Xx+3y—22=59x+2y-3z=8 V%
HAe R Gad &, Sqh G §

A) Bx—-4y-z=2

B) 5x—4y-z=7

C) x-3y+z=7

D) x-y-10z=9

¢ A 3R B 3t weand 39 v € 76
P(A) + P(B) — P(A N B) = P(A) @

A) P(B/A} =1

B) P(A/B) =1

C) P(B/A) =0

D) P(A/B)=0

Ej Jx dx =
i (30— x¥%)?
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15. The relation R defined on the set
A={1,2,3as R={1,1), (2 2),
(3.3),(1,3)}is

A) equivalence
B) not symmetric
C) not reflexive

D) not transitive

16. Which of the following is true ?

A) The composition of functions is

commutative
.B) Every function is invertible

C) I a function f is bijective then its

inverse -1 need not be bijective

D) The composition of functions is

associative

17. Letf:[2,0)—> IR be the function defined
by f(x) = x2 — 4x + 5 then the range of f
is

A) R

B) [1, )
C) [4, )
D) (5, )

€ Page No. 6

15. ag="A={1,2 3}swR={(1,1),(2 2),
(3, 3), (1, 3)} F 9 & Gy R = gfenfim
frai s, @8
A) G

B) srawfia
C) wera
D) "

16. Fafofga i @ sR-Tiaem e ?
A) Fer i Gered ARl &
B) el He Il &
C) afs w wer f fgoia.adi ? & &

=gehn 11 & fgaia: At 8 arevas
T

D) el i Hee TTeei

17. AR f:[2, 0) > R T BeM & o
f(x) =x2 — 4x + 5 g TG ST 2 @ f
%1 Aofi &

A) R
B) [1, )
C) 4, )
D) [5, )
4JEECE



18.

19.

20.

21.

22.

The value of k, so that the function f

1-cos4dx X %0
defined as f(x) = 8x2 '’
k , x=0
becomes continuous at x = 0, is
A) 6 B) 4
C) -1 D) 1

The value of ¢ in mean vaiue theorem,

for the function f(x)=x+ %, xe[1 3]

(1]

A % B) %

©) % D) V3

If y =Jm, then g—i is equal to
F-= B
%75 ) 2y

The derivative of cos™1 (2x2 — 1) w.r.t.
cos~1xis

A) %

C)

B) 2

YL

The values of p and q so that
2

F(x) = X*+3x+p , x<1
gx +2 , X>1

is differentiable at x = 1 are respectively

18.

19.

20.

21.

22.

T

k 1 9% U frges e

1-cos4x X0
8)(2 ! %Wﬁ
k , x=0
ufenif¥a v f, x = 0 | PR & s

A) 6 B) 4
C) D) 1

f(x)=

Wf(x)=x+%,)<e[1,3]%ﬁrqm

T H cFI AR
3
n % B) %
1
C) 3 D) V3
R y=\fsinx+y @ %W%
cos x cosx
B
A 2y —1 ) 1-2y
sinx Sinx
©) 1-2y D) 2y-7

cos™! x FuME cos™! (2x2 - 1) T g
?

A %

C)

B) 2

o 2F

p 3R q % 78 9F s Rt x=1®
f(x)={x2+3x+p , X<1

gx + 2 , X>1
forde= &
A) 3,5 B) 1,1
C) 27 D) -3,7
4JEEGE



23.

24.

25.

26.

27.

Thevalueofi.xk)+j.(ixk) +k.{ixj)=

A) 0 B) 2

C) 1 D) 3

Projection of

a=2i+3j+2konb =i+2 +kis
10 5

Ay — B) =
9 8

C) = D} —

If a line makes angles 90°, 135°, 45°
with x, y and z axes respectively then
its direction cosines are

The distance of the point (2, 5, —3) from
the line 7.(6i-3j+2k)=4 is
A) 1 B) 2

13 10
C) = D) Ea

The equation of the plane with the
intercept 3 on the y axis and parallel
to ZOX plane is

A} XZ=3
B) Y=3
C) X=9
D) Z=3

Page No. 8

23. i.(jxk) +j.(ixk) +k.(ix]) FAAE
A) 0 B) 2
C) 1 D) 3

24, 3=21+3+2kIb=i+2+kW
e R

10 S
A) ? B 7
C) = D) 8
% %

25. ufY u @ x, y 3R 2 & |y semaT: 90°,
135°, 45° & SHiv AT | @ T Ry

cosine §
1

A) 0+ yF—

’ 2

B) 01_

1= &=
o1~

1 1
VB
,

D) 0, 1,

26. W@T.(6i-3j+2k)=4 a7 (25 -3)
#g2
A) 1 B) 2

13 10
C) = D) =

27. yamqtaﬁtZOXW%mmﬁu
3 % WY gHad $i aHiEw g

A) XZ=3
B) Y=3
C) X=9
D) Z=3

4JEECE



28.

29.

30.

31.

32.

If x = sint, y = sinpt then

d?y _d
(1—x2)ax—’£-><%+p2y=

A) 3
C) 0

B) 1
D) 10

The points on the curve y = cos x — 1
in [0, 2r], where the tangent is parallei
to x-axis, are

A) (n, -2)

C) (0, 0), {(m, -2)

B) (0, 2)
D) (0, 1)

The function f(x) = 4x® — 18x2 + 27x~7
has

A) one maximum
B) one minimum
C) one maximum and one minimum
D) neither a maximum nor minimum

The area of the greatest rectangle
that can be inscribed in an ellipse

52 y2
o =1 is (in square units)
a~ b

A) nab B) ab

C) 2ab D) 4ab

The function f{x) = tanx — x
A) always increases
B) always decreases
C) never increases
D) sometimesincreasesandsometimes
decreases

28.

29.

30.

31.

32.

IfE x = sint, y = sinpt @

d’y  dy
2 Y MY 2 =
a x)dxa Xax TPY

A) 3 B) 1
C) 0 D) 10

et ooyl 1@ x-H" & Ui 8 981
[0, 2n]daF y =cos x — 1 g ?

A) (=, —2) B) (0,2)

C) (0, 0), (n, -2) D) (0, 1)

He f(X) = 4x3 — 18x2 + 27x -7 &

A) T fteman

B) T =ad

C) U Al 31 & e

D) = 4 rftrsran 7 § =~Ean

x2 y2

S5+ 25 =1 e § g S wehdae

a~ b
T8 92 HET T &I% & (T 3 °)

A) nab B) ab

C) 2ab D) 4ab

Rl f(x) = tanx — x

A) w3 gl B

B) Wed Tl &

C) it e wga &

D) =t sigan & it wea &

4JEECE
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33. If A and B are events such that
P(A{ }=P(®B/A) then

A) AcBbutA=B
B) A=B
C) AnB=¢

D) P(A) = P(B)

34. A die is thrown thrice, then the
probability of getting an odd number
atleast once is

1 1
A)'é B)§

o % D) %

35. In a leap year, what is the probability
of having 53 Tuesdays ?

N
B) %
C) 5%66
D) ¥4
36. In a box containing 100 bulbs, 10 are

defective. The probability that out of a
sample of 5 bulbs, none is defective is

R
o () D) T

Page No. 10
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R

33, afx A ot B weArd 5@ s F
P(%):P(B/A)a‘r
A) AcB Qi1 A=B
B) A=B

D) P(A) = P(B)

34. T g A IR GBS R, A FH Y T
& AT s S W F ol i @

5% = 1
A g B) 3

o% = o%
35. @ﬁwa&ﬁ;:ssmﬁﬁﬁuﬁm
et 8 7
N Y
B) %
C) 5%66

D) %

36. 100 TE AR TFHF T H, 10TEHE IS5

Teat & U TR § 6 ot Gte sew TER
< siehan 3

M 75 o (3)
o5 o

4JEECE
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37.

38.

39.

40.

The matrix A =

© O o
Q0 o
o O ©
T
0

A) scalar matrix
B) square matrix
C) diagonal matrix
D) unit matrix

Which of the following is not true ?

A) If Ais skew-symmetric then A2 is
symmetric

B) If A is a matrix of any order then
AA! is always symmetric

C) If A is square matrix, then
A - Al is skew symmetric

D) If AB = AC then B = C where A,

B, C are square matrices of same
order

There are 2 vaiues of a which makes

1 -2 5
determinant A=(2 a -1]|=86
0 4 2a
then, the sum of these numbers is
A) 4 B) 5
C) -4 D) 9

Fx=0y=02z%0 and
t+x 1 1
1 1+y 1 |=0
1 1 1+z

thenx 4y 14 21js
A) xyz B) x~ly-1z-1
C) x-y~-z D) -1

38. FfoRem i @ s-waa e ?
A) afe A firer srgg & ot A2 i @
B) afe A et roft Y arregg & A AAT
weT wwfta @

C) afk A= a2 M A - Al @& R
HTHE &

D) afc AB= ACW® B = C &l A, B,
C gum Jvft & rf anreg &

39. a % & um & ot v i
1 -2 5
A=[2 a -1|=86 = g, A
0 4 2a

TSt T I &
A) 4 B) 5
C) -4 D) 9

40. TR x=0,y=#0,z=0 ik

t+x 1 1
1 1+y 1 |=0
1 1 1+z
Wxleylez1?
A) xyz B) x-ly- 1z
C) x-y-z D) -1
4JEECE
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41.

42.

43.

48.

? J10-x B
sVx+flo-x

A) 6 B) 8
C)3 D) 1
51-4 dx

%, 1+ cos2x

A) 1 B) 2
C) 3 D) 4

2x
I sin® xdx =
1]

A) 0 B) 18x
C) 9n D) 18
] dx -

ge*+e™

n 4
-1
B) tan e—Tf4
C)o
D) 2

Area enclosed by the circle x2 + y2 =2
is equal to (in square units)
A) 2V2n B) 4n

C) 4n? D) 2=

Area bounded by the curve y = cos x
between x = 0 and x = 2n is (in square
units)

A) 2 B) 4

C)8 D) 1

Page No.

41,

42,

43.

45,

46.

12

LY =

*’I J10-x o

3 VX +10-x

A) 6 B) 8
C) 3 D) 1
_%1+cos2x

A) 1 B) 2
C)3 D) 4
2n

J'singxdx=

0

A) 0 B) 18r
C) 9n D) 18
]- dx -

o & +e™

A)%

-1
B) tan e—%
C)o
D) 2

T x2 + y2 = 2 ZRI O 74T S S &
(=t werd )

A) 2v2n B) 4n

C) 42 D) 2

x=03R x=2nF AT THy=cos x T

o0 R SEhd 8 (i 5 |)

A) 2 B) 4

C) 8 D) 1
4JEECE



47.

48.

49,

50.

If the plane has the intercepts a, b,
¢ on the coordinate axes and is at

a distance of p from the origin, then
1t 1 1

a2 b® ¢

A) 1 B) 0
L 2

C) = D) p

p

The planes 2x -y + 4z = 5 and
5x —-2.5y + 10z =6 are

A) parallel

B) perpendicular

C) intersect at (0, 0, 0)

D) passes through (0, 0, % )

The coordinates of the point on the
line through the points A(3, 4, 1) and
B(5, 1, 6) crosses XY plane are

A (1%.234.0)
B (% %.0)

C) (1,1,0)
D) (-134.23.0)

Z = 3x + 2y subject to x + y > 8,
3x+5y<15,x>0,y>0has

A) maximum
B) minimum
C) both maximum and minimum

D) no feasible region

Page No. 13
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47.

48.

49.

50.

af% % guae § 9U9E AE W Edy

a,bcfdahigmapgtmiEa
1 1 1

2

A) 1 B) O

C) L D) p?
p? P

2X-y+4z=53M5x-25y+102=6
arad §

A) TuiE

B) w@ad

C) (0, 0, 0) W wfe=at

D) (0,0.%]) A

g A(3, 4, 1) 3T B(S, 1, 6) A TR =il
@1 W wu9E fag St XY a9 S IR F
LAC S

A (13.234.0)

B) (3%.%:0)

C) (1,1,0)
D) (-134.23.0)

X+y>8,3x+5y<15,x>0,y>0%
AT Z =3x + 2y |

A) T stftran
B) T =gaH
C) i At R =~aw
D) =iE "wrey & Tl
4JEECE



51. Acetaldehyde and Benzaldehyde can

CHEMISTRY

be distinguished by
A) Tollen's test
B) Fehling's test
C) Schiff's test
D) Oxidation

52. Ethanal undergoes a reaction in the
presence of alkali to give 3-hydroxy

butanal. The reaction is
A) Aldol condensation
B) Claisen condensation
C) Cannizzaro reaction
D) Benzoin condensation

53. The compound does not undergo

Cannizzaro's reaction

A) Acetaldehyde

B) Benzaldehyde

C) Formaldehyde

D) Trimethyl acetaldehyde

@)
54. H—(HJ—NHE —4—>ng X; Xis
A) Amine
B) Aldehyde
C) Alcohol
D) Cyanide

Page No. 14

LIPERCE D]

51. tealesg sihsvwfeeded _ ©m

3t forar <1 amar B

A) AT qiegor
B) %hefem wew
C) hi% glieqm
D) ST=A

52. 399e1 @GR (rFwe) Y Iuftufa § w
AR Fth 3-FIRgTad] sg¢a aar 81
srffere &

A) TEETE HOA
B) FoSH GEH
C) Hfem safsifsran
D) SisiTgd WerA

53. @ Afien s e stfifssn 7€ wn

A) tfieafsess
S EERISHES
C) wilwigrds

D) Trsftrerds wReafiers

O

T
54, R-C—NHQ%‘L—-) X; X%
2

A) i
B) wwese
C) Ichisd

D) 9RATES
4JEECE
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56.

57.

58.

59.

is polyatomic molecule.
A) Calcium
B) Oxygen
C) Sulphur

D) Barium

Freundlich isotherm is a plot of log x/m

Vs it gives a straight line.
A) log P B) log K

C) 1 D) log C

n

In Ostwald's process is
used as catalyst.

A) Ni B) Pt

C) Fe D) V5,05

Colloidal particies are charged can be
demonstrated using

A) Brownian movement
B) Tyndall effect
C) Electrophoresis

D) Dialysis

Bredig's arc method involves
A) Oxidation

B) Reduction

C) Condensation

D) Evaporation

Page No. 15

55. U agRAN AY R
A) SHfcaam
B) HTEHisH
C) "o
D) st

56. Hiew amgHid log xmast &
fer we e &) T Hiefi v S E |
A) logP B) logK
C) % D) log C

57. aleaies yfsan i, I H
wifel S B 2
A) Ni B) Pt

C) Fe D) V,05

58. Fcised Hu1 JANT §, T8 o
T ek WeRTd foRaT ST weh 81

A) s ifd
B) fésa e
C) SR[RITEIH
D) 3taret

59. Mot __ _ dard
A) T

B) 1=

C) ¥

D) arsdieRtr
4JEECE



60.

61.

62.

63.

65.

is a low spin complex.
A} Ni (CN),J%- B) [Co Fgl*
C) [Ni C1,]?- D) [Fe Fgl*

Oxidation state of manganese in
Mn (CO)g is
A) +5
C) +6

B) +1
D) O

Number of donating atoms present in
EDTA
A) 6
C) 2

B) 5
D) 4

Colour of V4* ion is
A) Green

B) Violet

C) Pink

D) Blue

Catalyst used in Hydrogenation
A) V,05 B) Fe
C) Ni D) Pd

Due to lanthanoid contraction
elements exhibit similar radii.

A) Zn & Hg
B) Zr & Hf
C) Zr&yY

D) Ag & Cd

Page No. 1

60.

61.

62.

63.

64.

65.

[@)]

o e = T R
A) Ni (CN),J%~ B) [Co Fgl*~
C) [NiCl > D) [Fe Fg)*
Mn (CO)g # i it 3= ferfar 8
A) +5 B) +1
C) +6 D) 0
EDTA # 3uf@ra gwwal wasdt &)

FE 2
A) 6
C) 2

B) 5
D) 4

VH AR FI TR
A) &
B) sl
C) et
D) frem

TSRS § WFd I8H
A) V,05 B) Fe
C) Ni D) Pd

AATIE GFeH & FRU o g
EspikticEd
A) Zn 3l Hg
B) Zr 3R Hf
C) Zrairy
D) Ag i Cd
4JEECE
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66.

67.

68.

69.

R-X+A—>RBNC+8B;A&B are
A) AgCN and AgX
B) AgNC and AgX
C) KCN and KX
D) NaCN and NaX

Cl

K |
@ NaOH —S23K , x HEL 4.
300 atm

yis

A) Aniline
B) Aldehyde
C) Ketone
D) Phenol

Phenol is converted in to benzene in
presence of

A) ‘anhy.AlCl,
B) Na,Cr,0,
C) Zn
D) Cu

RCN + SnCl, + HCI 0", RCHO.

Name of the reaction is
A) Stephen reaction
B) Etard reaction
C) Kolbe's reaction

D) Gattermann—Koch reaction

66. R—X+A > RANC +B; Al B %
A) AgCN 3R AgX
B) AgNC 3t AgX
C) KCN afR KX

D) NaCN afit NaX

Cl

67. NaOH

y 8
A) EieT
B) weSteTsS
C) $rm
D) TEe

68. T A asim g __  HrsaRfad
yfafda foram st 21

A) fie AlC,
B) Na,Cr,0,
C) Zn
D) Cu

69. RCN + SnCl, + HCl 9" _, RCHO,
s & A &
A) &5 sAffsra

4JEECE



71,

72,

73.

74,

Reagent used in carbylamine reaction
A) CHCl; + KBr
B) CHCl; + KOH
C) NaNO, + HCI
D) KOH + 1,

Reducing sugar is
A) Sucrose

B) Cellulose

C) Maltose

D) Starch

Six membered cyclic structure of
glucose is called

A) Furanose
B) Pyranose
C) Galactose
D) Amylose

amino acid is aromatic in
nature,

A) Lysine

B) Serine

C) Tyrosine
D) Giutamine

Deficiency of Vitamin-Bg causes

disease.
A) Night Blindness
B) Beri-beri
C) Convulsions
D) Scurvy

FPage No. 18

70. HegATHTE SRR 3 v st

;
&
E

i

A) CHClj + KBr
B) CHCl, + KOH
C) NaNO, + HC!

D) KOH + I,

71. 3= WU &

A) i
B) degeSt
C) ueer
D) =

72. THE R S SeE e

73.

FEei B

A) FHW
B) WA
C) s
D) wHTEE

anft sreT Wl & WUARE R

A) wERA
B) ¥i=

C) Tl
D) egemrE

74. Rreifm-Bg i w4 U1 e &1

A) T 3iyar
B) I0-ad
C) &
D) whelt
4JEECE
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75.

76.

"Eleé‘trolyte used in Ni-Cd cell

A) KOH
B) H,SO,
C) LiOH
D) Al,O,

For certain reaction, the values of A &
Eain Arrhenius equation are 4x10135-1
& 98.6 kJ/mol. If the reaction is 15t
order, at what temperature will its half-
life period be 10 minutes ?

A) 325.60 K
B) 311.35K
C) 300K

D) 510.05K

Two solutions of NaCl and CH;COOH
are prepared separately. The molarity
of both is 0.1 m and osmotic pressure
P; & P, respectively. The correct

75. Ni-Cd &« % Wy Rrega-aruered &
A) KOH
B) H,S0,
C) LiOH
D) Al,O,

76. T© sAtufwrmen & fore, sRfma gefie
H A 3t Ea & Wi 4x10138-1 st
98.6 kd/mol €1 afe sifrT em A Hr g @
e AT T gEeht a1ef oy 10 fe |t ?

A) 325.60 K
B) 311.35K
C) 300 K

D) 510.05 K

77. NaCl 3R CH,COOH % 2 faer arem-
3T ST I T 2 R T SWERT 0.1m ¥

R qawr <& AT P, 3R P, 81 v

relationship between osmotic pressure o % =TS @l H6y
is
AY Py =P,
A) P, =P,
B) P, > P, B) Py>Fp
C) P,> Py C) P,>P,
D) P-'?'-'Pz D) P1¢P2

m 4JEECE



78.

79.

80.

81.

82.

Ethylene glycol + A —— Decron, A
is

A) Terepthalic acid

B) Hexamethylene diamine
C) e - Caprolactam

D) Melamine

Tranquilizer among the following
A) Seldane

B) Veronal

C) Paracetamol

D) Iproniazid

[Co (NHg); SO,]Brand[Co (NHz)5 Br]
80, are

A) Linkage isomers

B) Coordination isomers

C) lonisation isomers

D) Optical isomers

4HNO; + P40, — 4HPO, + X, X is
A) N,O,
B) N,O,
C) N,0
D) N,O,

Oxidation state of phosphorous in
orthophosphoric acid is

A) +5
B) +4
C) +3
D) +2

78. Eﬂ'lgaﬁ’ﬂlﬁiﬁa+A———>§§Fﬁ,A%
A) T It

B) deafiemseli s
C) e—Huicigen
D) femEa

79. f=fafiaa 3 @ wares 2
A) BeEH
B) S+t
C) wrifyemie
D) smgsAERe

80. [Co (NHg)5 SO,IBr 3R [Co (NH,); Br]
SO, §
A) Hgadi aaragdl
B) ax~=4t gl
C) it anmEgsl
D) Tw arTEasEt

81. 4HNO, + P,0;, - 4HPOZ + X, X ®
A) N,O,
B) N,O,
C) N,O
D) N,O¢

82. ATUTHEHING 3  Hehry & Iyuaw
feufa 2
A) +5
B) +4
C) +3
D) +2

Page No. 20 4JEECE
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83.

84.

85.

86.

For 2 N;Og — 4 NO, + O,, rate and
rate constants are 2x10-3 and 4x10™¢
respectively. Then the concentration of
N,Og at that time will be

A) 0.5x10™%
B) 0.5x1073
C) 2
D) 5

Faster a chemical reaction, smaller is
the

A) rate constant

B) concentration of reactant
C) half life

D) energy

In the preparation of Grignard reagent,
the medium used is

A) Alcoholic
B) Aqueous
C) Ether
D) Acid

Benzene can be converted to toluene
by

A) Wurtz reaction

B) Fittig reaction

C) Wurtz-Fittig reaction

D) Friedel-Craft reaction

Pace No. 21

83. 2 N,O; — 4 NO, + O, & fig, s sl T

Frais T 2x103 3R 4 x 104§ I1dvsw
T N,O, i gisan arll
A) 0.5x1074

B) 0.5x10-3
C) 2

D) &

84. rfirisrn foat 9w =i, _ 3

BleT B
A) e
B) i i wigar
C) amig
D) it

85. firmre stiventie sHTG GHY SE AT §

A) sTehiEd
B) srefta
C) 3

D) awt

86. Sl i eiege § T i

F &
A) g1 Affsman
B) fefemr aafiiferan
C) gei-fefem arfufaran
D) frea-wre stufwa

4JEECE
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87. Acetic acid is distilled with P205. a

88. Aniline is used in the manufacture of

89.

90.

strong dehydrating agent to get
A) CO, and CO
B) Alcohol
C) Alkane
D) Acetic anhydride

drug like

A) Aspirin

B) Cinnamic acid
C) Acetanilide

D) Salicylic acid

—  __doesnotundergo Hoffmann's

bromamide reaction.
A) Benzamide

B) Propanamide
C) Acetamide

D) Formamide

Hinsberg's reagent is
A) SO,CI + HCl
B) CgH5SO,Cl
C) CHCI; + KOH
D) Hg,Cl, + HCI

3

¥

87. efafes armd F1 P,0, w% wiwmmeht

A) CO, 3 CO

B) 3rwhige

C) e

D) e wersges

88. G s s@T __ A afwfmt
A g 84

A) Yt

B) fmfhe anr

C) Wrefemse

D) dfcramsiaes sne

89. _  giwhafisivunse s s

ST
A) sSeTHIgE
B) WmmIEe
C) tRrmrsg
D) winTEe

90. fEwenf 1 stftvds 2
A) SO,CI + HCl
B) CgHgSOLCI
C) CHCI4 + KOH

D) Hg,Cl, + HCI
m 4JEECE



92

93.

94,

85.

96.

In the coagulation of a negative sol.
the flocculating power is in the order

A) AIR* > Ba2+ > Na*
B) Al** < Ba2* < Na*
C) Ba2*+ < Nat < Al3+
D) Na* > A3+ > Ba2*

Van Arke! method is used for removing
oxygen and nitrogen present as
impurities from metals like

A} Cr B) Fe

C) Ni D) Ti
Formula of Zincite is

A) ZnS B) ZnCO,4
C) ZnCl, D) ZnO

Percentage of carbon in pig Iron is
A) 1 B) 2
C) 4 D) 3

Which of the following reaction in blast
furnace is endothermic ?

A) 2C+0, —, 2CO

B) CaCO; —— CaO + CO,

C) C+0, —— CO,

D) C+CO, — 2CO

4HCI + O, —— 2Cl, + 2H,0.
Catalyst used in this reaction is

A) V,05 B) MnO,
C) CuCl, D) P,05

Page No. 23

91

92.

93

94,

95

96

TS SRTeHS §id & @hed 8, 0 gife
= W | Bt g

A) AR+ > Ba2* > Na*
B) AR+ < Ba2* < Na*
C) Ba2* < Na* < AR+

D) Na* > AP+ > Ba2+

T e fafy 9@ wigat
¥ el & w9 4 U@ afefie ot
TGS i g & T Tga Bt 2l

A) Cr B) Fe

C) Ni D) Ti
e s gt

A) ZnS B) ZnCO,

C) ZnCl, D) ZnO
e ¢lig | e 1 vfaera {

A) 1 B) 2

C) 4 D) 3

T wE A Freferfaa § @ wia-df st
FETEE @ ?

A)2C+0, — , 2CO

B) CaCO3; —— Cal + CO,

C) C+0, — CO,

D) C+CO, — 2CO

4HCI + O, — 2Cl, + 2H,0 T

iR # wge Ik i
A) V,0, B) MnO,
C) CuCl, D) P,0;

4JEECE



2
97. Crystal system of CuS0,.5H,0 is
A) Triclinic
B) Triagonal
C) Cubic
D) Tetragonal

98. Molal depression constant =
A) RXM1 X sz
1000 x A, H
1000 X AfH
RXM, x T2
1000 x A,,,,H

) RXM, x "f',2
1000 x AH

C)

99. In a cubic lattice each edge length of
the unit cell is 408.6 pm and density
of the unit cell is 10.5x103 kgm=3, At
weight 107. The crystal lattice is

A) FCC
B) BCC
C) CCP
D) Primitive

100. Octahedral complex among the
following

A) Ni (CO),
B) [PtCl )2~

C) {Fe (CN)gl*
D) [Co (NH,)g]3*

e,

97. CuS0,.5H,0 #i forezet worreft &
A) e
B) B=riviig
C) =g
D) =gshivita

98. iy e Fraais
AXM, x T, 2
1000 x A, H

RXM, x T;2
1000 x AfH
1000 x A, H
RXM, x T;2
1000 x AH

99, UF UHIT ST § TS RN FH TE

o it g 408.6 pm 3R T FiRwEE
FETT 10.5 x10° foomy -3, ik 107 R
rew wes R

A) FCC

B) BCC

C) ccP

D) yifies

A}
B)
C)

D)

100. fF=feiRaa § & sreherhi wtem &
A) Ni (CO),
B) [PtCI,}>
C) [Fe (CN)g|*
D) [Co (NH,)g3*

c wJEECE



101.

102.

103.

104.

PHYSICS

A convex mirror of focal length f forms
animage which is % times the object.
The distance of the object from the
mirror is

A) (n—1)f B) @f

0) (—“ﬁ-‘l f D) (n+ 1)

A ray incident at a point at an angle of
incidence of 60° enters a glass sphere
of refractive index /3 and is reflected
and refracted at the farther surface of
the sphere. The angle between the
reflected and refracted rays at this
surface is

A) 50°
C) 90°

B) 60°
D} 40°

A double slit experiment is immersed
in a liquid of refractive index 1.33.
Separation between the slits is Tmm
and distance between slit and screen
is 1.33m. If slits are illuminated by a
parallel beam oflight whose wavelength
is 6300A°, then fringe width will be

A) 6.3 mm

B) 63 mm

C) 0.63 mm

D) None of these

Which of the following are not
electromagnetic waves ?

A) Cosmic rays B) Gamma-rays
C) B-rays D) X-rays

Page Nc. 25

101.

102.

103.

Hifes fasm=

T 390 i el wia gl 1], o wfafiie

T agH Y et edndagH
g2

A) (n—1)1

B) (";1)f

C) ‘—”F’I'l)f D) (n+1)f

T FoRT0T S ST v O G foig W sl
60° Bt & 3R /3 I FE FE F
T 7 e S SR Bt & T & g
T8 W Aqafda Bt §1 56 7% W yratia 3t
Jryafia fmwit & e w2

A) 50° B) 60°
C) 90° D) 40°
T f3foR 390w 1.33 sedAw S ga i

g &1 st F oft i gt 1 Pt o g i
& % ot gt 1.33 . ¥k i |

VRISl o Ueh THMIR R o7 SRT SRR
o st @ foreeht @t dedar 6300A° & dt
gt <terd swit
A) 6.3 fisft
B) 63 fupft
C) 0.63 fipit
D) T8 @ =i T
104, Frfiiea i & n-ot g Sefm @i § 7
A) =ifers et B) mmr-faeet
C) p-Frwt D) X-feptat
4JEECE



s
105. Dimensional formula of the physical
quantity resistance is
A) [ML2T-3A-2]
B) [ML-1T3A-)
C) [ML2T-2K-]
D) [ML—2T-3A2)

106. What does the speedometer of a
vehicle read/measure

A) Average speed
B) Average velocity
C) Instanteneous speed

D) Instanteneous velocity

107. The magnitude of x and y components
of A are7and 6 respectively. Also the
magnitudes of x and y components
of A+ B are 11 and 9 respectively.
Calculate the magnitude of vector B

A) 10 B) 5
C) 6 D) 3

108. A bob of. pendulum of mass 50 g is
suspended by a string with the roof of an
elevator. If the lift is falling with a uniform
acceleration of 5ms=2, the tension in the
string is (g = 10 ms™2)

A) 0.5N
C) 025N

B) 0.225N
D) 0.025N

C Page No. 26

105. it wen vy & fafiefa gz @
A) [ML2T-3A-2)
B) {ML™1T3A-T]
C) [ML2T-2K-1]

D) [ML—2T-3A2]

106. T AT 3T TIRrTae: FoReTeht W shear & 7
A) afrga
B) afwa dan
C) arehifersh T
D) GTchTfersh HaT

107. A & x 3R y =2l & TRmm oft smm: 7 39
6 8l. A+ B ¥ x 3R y gzt F v sf
w11 3R 9 €). wiew B = gfomor g
Exy

A) 10 B) 5
C)6 D) 3
108. T €iieh @1 50 T N 9Tl Tels Uh

IoUTTF i Ba 8 U a1 o @ ¢l gie
Iouls s 5 .8 2 & gur @ @ AR

MW ANIRA = 2 7
(g=107.82)
A) 0.5N B) 0.225 N
C) 0.25N D) 0.025N

4JEECE
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109.

110.

111.

112.

Induction furnace makes use of
A) Self induction
B) Mutual induction
C) Eddy currents

D) None of these

A 30pF capacitor is connected to a
150V, 60Hz AC supply the rms value
of current in the circuit is

A) 17A
B) 1.7A
C) 1.7mA

D) 1.7pA

A transformer has 100 turns in the
primary coil and carries 8A current.
If input power is 1kW, the number of
turns in secondary coil to have 500V
of output will be

A) 100
B) 200
C) 400
D) 300

The waves used by artificial satellite
for communication is

A) Microwaves
B) IR waves

C) Radio waves
D) X-rays

RPage No. 27

109. TP gt 1 i e )

A) E|I™

B) RIS
C) Tt arrd

D) 51 @ =id

110. T 30uF uti@ ¢ 150V, 60Hz AC

agfd & g1 ¥ wike o faga uw W ms
AA

A) 17A
B) 1.7A
C) 1.7mA

D) 1.7uA

111, e afonf & e el # 100 g §
air 8A firga ura &1 4R e wiF kW R
@ 500V Frfa wea =27 3 fere faedieres et
# et ) g aeft
A) 100
B) 200
C) 400
D) 300

112, ga % fag HEm 3ure g Sy o @
A) q&w ol

B) TR aat

C) e &l

D) X-femedt f
4JEECE



113. 1 mg radium has 2.68x108 atoms.
Its half life is 1620 years. How many

radium atoms will disintegrate from

1mg of pure radium in 3240 years ?
A) 2.01x10°
B) 2.01x108
C) 1.01x10°
D) 1.01x108

114. What will be input of A and B for the

Boolean expression ?
(A+B)-(A-B)=1

A) (0, 0)
C) (1,0

B) (0, 1)
D) (1, 1)

115. The current gain for a common emitter
amplifier is 69. If the emitter current is
7mA, the base current is

A) 0.1mA B) 1mA
C) 0.2mA D) 2mA

116. The work done in placing a charge of
8x10~18C on a condenser of capacity
100uF is

A) 16x10732
B) 3.1x10726
C) 4x10710

D) 32x10732y

C Page No. 28

113. @ firelt 7 Weaw #§ 2.68x108 womy &)
Taeht 7Y A 1620 I 1 3240 Tt i (&
femm & 1 frcht T & Toraa teaw v
ferafea &9 ¢

A) 2.01x10°
B) 2.01x108
C) 1.01x10°
D) 1.01x108

114, gom sIlbeafwr (A +B)-(A-B)=1%famA

3B % AT H T EW ?
A) (0, 0) B) (0, 1)
C) (1,0) D) (1,1)

115, U G-I 3casih Yqa o foe faga mfc
69 2| ARt Ieasie RE@ 7mA & @ smuR
frEz

A) 0.1mA
C) 0.2mA

B) TmA
D) 2mA

116. 100pF i wiftar Iet & wufa | &
8x10~18C = 1= W@ I % g

A) 16x10732y
B) 3.1x10726
C) 4x10-19
D) 32x10732
4JEECE



117. The angular speed of seconds hand
of the clock is

-1
A) ™ gop"ads
B) %0 rads™
C) Yorads™

-1
D) %D rads

118. A particle moves from position
r,=(3i+2j-6k)m to position
r,=(14i+13j+9k)munder the
action of a force (4i+]—3k)N then
the work done is
A) 46 J

C) 86J

B) 56 J
D) 10J

119. A light and heavy body have equal
momentum, which one has greater
kinetic energy ?

A) A light body

B) A heavy body

C) Both have equal kinetic energies
D) Data given is incomplete

120. A flywheel of mass 50 kg is in the
form of a disc of diameter 0.5 m. The
kinetic energy when it makes 120
revolutions per minute about its axis

is (I = Y2MR?2)
A) 50 n2 B) 12.5 n?
C) 25 n? D) 100 »2

C ' Page No. 29

117. g F Yshg o q§ H Fofg a2

»
A) Yggpads
B) %0 rads™
C) %0 rads™

1
D) %0 rad s

118. THEHITH A (4i+]-3k)N F
il ffa v, = (31 +2j-6k) A
r, =(141+13]+9k) . 7% = 81
forar T FE R

A) 46 J

C) 86 J

B) 56J
D) 10J

119. T& ool 3R Wil g W AT TR B,
ferareft iy it afires el ?

A) Tl T

B) vl =g

C) Bt =t e St @ Bt
D) fq e 23R i e &)

120. T 50 frm & 9@ 0.5 Y. = il ww
et % & 0 8| 319+t ot 9w iR wh fire

120 ¥oix of S 9T gEeh fers St
Bt 7 (1 = 2MR?2)

A) 50 n2 B) 12.5 n2

C) 25 n? D) 100 2

4JEECE



S e et i

% The phenomenon of sound propagation
in air is
A) isothermal process
B) Adiabatic process
C) Isobaric process

D) isochoric process

122. The number of electrons present in
—2C of charge Is

A) 1.25x101°
B) 1.25x1018
C) 1.6x101°
D) 1.6x1018

123. The electric field at a point is
A) Always continuous

B) Continuous if there is no charge
at that point

C) Discontinuous if there is a charge
at that point

D) Both B and C are correct

124. In a region of constant potential
A} The electric field is uniform
B) The electric field is infinity

C) There can be no charge inside the
region
D) None of the above

125. Dielectric constant for a metal is
B} infinite
D) ten

A) zero
C) one

C Page No. 30

itwit

- o

121, ag # S % ™A Y gimen
A) aaardig ufshar
B) &I g
C) awerely wisn
D) @% A wiskar

122, 31w % —-2C # I sotae il T B
A) 1.25x101®
B) 1.25x1078
C) 1.6x1019
D) 1.6x1018

123. o fig w foegm &
A) e P
B) TR foig w I aararwy e & ot Few
C) A forg T U amawr & o Fkat T
D) et B st C w= €|

124, amR A S ww A i
A) faga &= awm B
B) forega &= aFa )
C) &% % ¥t ¢ uitad T & T
D) 3ugaa # & ¢ 7

125. U g & forq o R @

A) I B) 3w

C) @ D) =
4JEECE



126. Two lenses of power +10D and —5D
are placed in contact. Where should-an

object be held from the lens, so as to
obtain a virtual image of magnification

27?
A) 5cm B) -5cm
C) 10cm D) -10cm

127. What is the refractive index of material
of a plano convex lens if the radius of
curvature of the convex surface is 5cm
and focal length of the lens is 20 em.

n % B) %
o % D) %5

128. Inadouble slit experiment the distance
between slits is increased 10 times,
whereas their distance from screen is
halved then the fringe width

A) becomes }éo

B) becomes )60
C) remains same

D) becomes % 0

129, The angle between pass axis of
polarizer and analyser is 45°. The

126. +10D 3 -5D WfdRt % < oiw duss § @
I 8| U g A @ ¥ fret g wown

ST aTfehs 2 ATaeR e st whafe w
T T

A) 5 @t B) —5 @t

C) 10 gt D) —10 st

127. T GHAET-3I0 94 o TETY &I SIqae=iH 41
B Al v T8 <l shan firn 5 A afk
o i B gt 20 Toft B

A % B) %
o % D) %
128. W fafos v &, s Ffm Frgh 10 on
g1 & ITelt B, Safes TR A gt smefi A
2 ot et <fterd
A) ygo HE G

B) %0 B Tt B
C) TR @ 2

D) %0 B 9Tt Bi

129. yefterat (HoosR) st s For aw ®

percentage of polarised light passing Db L mﬂwﬁw
through analyser is FERT 1 o &
A) 75% B) 25% A) 75% B) 25%
C) 50% D) 100% C) 50% D) 100%
c 4JEECE



130. Soft iron is preferred as core of

transformer in the form of sheets due
toits

A) High retentivity, low coercivity and
low hysteresis loss

B) High retentivity, high coercivity
and low hysteresis loss

C) Low retentivity, low coercivity and
high hysteresis loss

D) Low retentivity, high coercivity and
high hysteresis loss

131. Rate of change of torque t with
deflection 6 is maximum for magnet
suspended freely in a uniform magnetic
field of induction B when

A) 8 =90°
B) 0 = 60°
C) 6 =45°
D) 8=0°

132. In LCR circuit resonant frequency is
600Hz and half power points are at
650 and 550Hz. The quality factor is

A Ve
B) %

C)6
D)3
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130. T % ¥ | TR & R F fore 7 @R
= Fiar & Fidt-2, S Fw

A) 322 Ewd, e sadisea 7 fi
i wiiv

B) S=d (a0, 3= adigHal 3 fng
Tewfedta a1l

C) fi= sm=tm, e sradiewar 9 3=
feefedta Ty

D) = SA=eM, 3=9 adigsHar 9 3=
feeeicdta s

131. 7™ B ¥ U TR Yohid 8 § 09 @
T ek % fore fadiawr 3 wry e o
fterda i o iftsas a9 S & 5

A) 9 = 90°
B) 0 = 60°
C) 6 = 45°

D) 6=0°

132. LCR ®fthe & 1geum 31gfti 600Hz § 3ik
3y wifF foig 650 3R 550Hz W &) Ui

T B
NP A
B %
C) 6

D) 3
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133.

134,

Two identical capacitors have the
same capacitance C. One of them is
charged to potential V, and the other
to V,,. The negative ends of capacitors
are connected together. When the
positive ends are also connected, the
decrease in energy of the combine
system is

A 2 (VE-VE)
B) £ (V7 +V2)
C) %M—Vz)2
D) Z(V+ Vo)

The voltage V and current | graphs for a
conductor at two different temperatures
T, and T, are shown in the figure. The
relation between T, & T, is

133. AH-NufEi Naf@m C i

&V, SR 1 V,, T afira fm s
&1 uit % sHensh Big o TR A R &
e S 3 G B ot Site R € @
wafsTa somett Y St 3 froae avft

A) %(vf-v;)
B) 2 (V2 +Vd)
C) %(Vrvz)z

C
D) o (Vi + Vo)’

134. o 5 U germersn & &t et et T, 3tk

T, W aieest V ik forge | 7w gwiie o &)
T, 3R T, 1 waivr

L3

1 T, T,
Vv T, \'4 T,
r g T
AT, >T, A T,>T,
B) T,<T, B) T,<T,
1 1
D T = — D T E e
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135. The potential at a point x (measured in

um) due to some charges situated on the

20
L3 * - V —
x-axisis given by V(x) o)

electric field E at x = 4 m is given by

volt. The

A) % %m & in +ve x direction
B) 1% %m & in —ve x direction
C) 1% %m & in +ve x direction

D) % %m & in —ve x direction

136. Two wires of equal diameters, of
resistivities p, and p, and lengths
l, and I,, respectively are joined in
series. The equivalent resistivity of the
combination is

pili+pal pila+paly
A) 11 2'2 B) l
|1+|2 |1— -]

I, +psl ly—-pal
C)P12 P2l D)PHPzz

137. The magnetic field due to current
carrying circular coil loop of radius
6 cm at a point on axis at a distance
of 8 cm from the center is 54uT. What
is the value at center of loop ?

A) 75 uT B) 125 uT
C) 150 uT D) 250 uT

C Page No. 34

135. foig X T x — & T FW 137 T T F 0

e (um & T T V(X) = 220 e

(x* - 4)

Rx=4mw @ &g ER
A % Vi o s x fean )
B) "% im s o x feam 1
c) 1% %maﬂ'(waﬁxﬁmﬁl
D) %4 Vim @M awomeses x feam

136. WA = 91t & ar, Rreh fokess p,
37t p,, 3T SHaTé FHM: |, 3 1, R, FEwr |
S T ¥ | TR Y e FRRuar @

A) pili+palz B) pila+p2ly

pyla +pal pili-pala
Iy +15 1712

137. Hx 4 8 Uft A gt W A W@ g W
6 Tt Brean & ST oot wia fe frega
2, =1 Johi 89 54T ¥ wia & F{ W

T BT 7
A) 75 uT B) 125 uT
C) 150 uT D) 250 uT
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138. The weight of a body at the center of

earth is
A) 9.8 ms2 B) O
C) 4.9 ms™2 D) 10ms™2

139. The ratio of lateral strain to the
longitudinal strain is called

A) Young's modulus of elasticity
B) Bulk modulus of elasticity

C) Poisson’s ratio

D) Elastic limit

140. Sl Unit of co-efficient of viscosity is
A) Nsm—2 B) Ns~'m2
C) Nsm™3 D) Ns—2m

141. 30°C temperature in Fahrenheit scale

is
A) 68°F B) 86°F
C) 100°F D) 48.5°F

142, The fastest mode of transferof heat is
A) Conduction
C) Radiation

B} Convection
D) BothA&B

143. The ratio of displacement to amplitude,
when kinetic energy of a body executing
SHM is thrice the potential energy

A S 5) /3

C)% D)%

c

138. geaft 3 3 9T u a5 AR AW
A) 9.8 a2 B) 0
C) 4.9W.a2 D) 10#.a—2

139. wiivdes f&=ma &1 3w fewma & ogum
FHEaATd &
A) SICATEIAT T 471 A4S
B) eHTEeT i Soh HIITh
C) wigwa 3
D) wearey

140. @& E F S| 3w B
A) Nsm—=2 B) Ns~'m?
C) Nsm™3 D} Ns—2m
141, FigHEE IR | 30°C 999H 8

A) 68°F B) 86°F

C) 100°F D) 48.5°F

142, TN ¥ T 1 Aoy AT &

A) =TeH B) Hagd
C) faferm D) A 3R B 2Ft
143. 99 Gt A= ufd 1 e #0956 .
g i afew et gueht wifos ol i i
on & @ fareTo & A 1 SigaTa fm
A2 B) %

D)%
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144.

1485.

146.

147.

A Cylindrical rod is reformed to half
of its original length, keeping volume
constant. If its resistance before this
change were R then the resistance
after reformation of rod will be

A) R B

c) 3% o) %

A proton, a deuteron and an o— particle
with same kinetic energy enter
perpendicularly in a uniform magnetic
field, then the radii of their circular
paths is

A)1:1:2
C) 1:42:1

B) V2 :1:1
D)1:2:.2

A galvanometer coil has a resistance
of 15Q and the meter shows full scale
deflection for a current of 4 mA. To
convert the meter into a voltmeter of
range 0 to 18V, the required resistance
is

A) 5885Q in series
B) 4485Q in series
C) 5885Q in parallel
D) 44850 in paratlel

Two identical magnetic dipoles of
magnetic moment 2 Am? are placed
at a separation of 2 m with their axes
perpendicular to each other in air. The
resultant magnetic field at a mid point
between the dipoles is

A) 45x10°T . B) 2J5x107°T
C) 4/5x107T D) 2J5x107°T
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144,

145.

146.

147.

A R T §U O SRR 88
TS T TN L0 Y 38 GA: ST e
aft uftads & g goe uford R ot aied
% YT AR Wiy BRm

A) R B) B,

c) 3%/ 0y %%

T WIH, Toh gt 3R & o— 01 Th @M
geehig 57 T THE TGS S & a1y dead
YA 4 1 A 3% JaehR 99 i B g

A)1:1:2 B) V2 :1:1
C)1:42:1 D) 1:2:42

o NeaAiet $eeh &1 gy 150 3 3R
iR 4 mA H forga um & g oof 3mm
fdiqur gwifar ) Het A 0 & 18V A9 &
Aeeriet § agem & g arfea iy B

A) 5885Q T@e 7|
B) 4485 sjEe H|
C) 5885 THMIE H|
D) 4485Q THMIK Hl

Yo Yol 2A m2 F ) T S g
fagg 2 #. it gt v 39 TER @ 3 6 3Tk
3147 37 § U-gE ¥ weaa 81 fEyal % nen
forg vt oot gerhtar &9 2

A) 4/5x10°T  B) 245x10°T

/

C) 4/5x107°T D) 24/5x107°T

4JEECE



e

T e N T

148. If K; and K, are maximum kinetic

149,

150.

energies of photoelectrons emitted
when lights of wavelength A, and A,
respectively incident on a metallic
surface if A, = 3X,, then

K
A) K, > (%2] B) K, <[?2)

tf an electron in hydrogen atom
is revolving in a circular track of
radius 5.3x10~11m with a velocity of
2.2x108ms™! around the proton then
the frequency of electron moving
around the proton is

A) 6.6x1012Hz
B) 3.3x1075Hz
C) 3.3x1072Hz
D) 6.6x10'5Hz

Tritium with a half life of 12.5 years
undergoing beta decay what fraction
of a sample of pure tritium will remain
undecayed after 25 years ?

A) One half

B) One fourth
C) One third
D) Three fourth

148. 9 UF ifce 783 W HAW: &, 3 A, T

149.

150.

o1 =1 YT ST ST & 9 ST Ieaild
wgaeA hi arfteran TR S K, 3R
KyBlafka, =30, 8, @

K
A) K‘1 > (%) B) K'l < (?2)
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C) K, = 3K, D) K, = 3K,
IfS 0 R TRGSH T 5,310~ 11 4.
#1 B & gaeer gu § s F = 9
2.2x108ms=1 it it A ¥1 w1 31 @ Wem
% IR 211 IH T FoH o A9
A) 6.6x1012Hz
B) 3.3x1075Hz
C) 3.3x1012Hz
D) 6.6x10'5Hz
12.5 9§t it ardf ang I gsfean & e
ooz € w1 ®1 25 Nt % {4 & vum
Y€ TERA % & T3 I fohaar W e
warg ?
A) 3
B) w =g
C) s faers
D) o <frend
=
4
4JEECE




Answer Key
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